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5 bt K o] Vo S




I FEIG R B A1 ) 4F 2024. 3
SEER (2) SR 4R A 2024, 3
TR IR IR 1. 000-00-00-2-0
Ny kg (ra—7) [EH] BEAm AR (F2w)  LfE2. Om3 0 0
HAfr HE BTG
150, 200
E2xin HkE HAAL K HAATG BAA B
HHEE R (B5kR) 0 0 0
A 1 27, 825 27, 825
3] 0 0 0
L 272.6 139 37, 891
Ny 7Ry (ra—7) [FEYE] BEn™ 220 1LFE2. 0m3 0 0 0
HEH A 1.5 56, 300 84, 450
MR (£20) 0 0
= 1 34
0
150, 200
0
HAAMh
150, 200 M/ A
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5 bt K o] Vo S




N

SEZEE (2) . 1 4 2024. 3

- M AR A 2024. 3
TR IR IR 1. 000-00-00-2-0
Ny kg (ra—7) [EH] PEAm 2R (F2w) L0, 8m 3 0 0
HAfr H HE BTG
68, 420
E2in HkE HAAL HE HAATG &R B
AT (Reik) 0 0 0
A 1 27, 825 27, 825
3] 0 0 0
L 87 139 12,093
Ny gky (ru—7) [FEYE] HE 2R (FE2w) IFE0. 8m3 0 0 0
HEH A 1.5 19, 000 28, 500
MR (£20) 0 0
= 1 2
0
68, 420
0

HAAMh
68, 420 M/ A

- 118 - ELARims  Abkizhh )y % &




o R AY B A ) 4 2024. 3
Z = :
SHEER (2) SR M ] 2024, 3
TR IR IR 1. 000-00-00-2-0
Ny 7Ky (7a—F8) iR
HNL g LR
56, 450
£ F HE BT g X & S
R (R
A 1 27,825 27,825
0 7
L 119 139 16, 541
Ny 7Ry (ra—7) [HEHE - 7 —ofeeftE] 1080, 8m3 (FEO0. 6m3) 2. 9t
H 1.06 11, 400 12, 084
WM (£20)
= 1 0
56, 450
Hif
56, 450 M/ A
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o R AY B i P4 2024. 3
SHEER (2) SR M ] 2024, 3
TR IR IR 1. 000-00-00-2-0
ALY Y — MR (T [E—4B#] 0. 8~1. 2m3,/h
A ] XA it K LR
2,220
£ F HE BT g X & S
ENAL N7 Y — FRAHE (ErA)  [RX] [£—XB#] 0. 8~1. 2m3,/h
FRE[H] 1 2,220 2,220
WM (F£20)
= 1 0
2,220
Hif
2,220 M,/
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5 bt K o] Vo S




o R AY B A ) 4 2024. 3
Z = .
SHEER (2) SR M ] 2024, 3
TR IR IR 1. 000-00-00-2-0
RESE AR i7isSEUR
BAY H ok Bl
15, 520
£ B JHRE BT HE B &FA e
LSl
L 65 139 9,035
Je R (ATl s = DU BRE - X7 ) 2] HE10. 5~11. O0m3./ %
H 1.71 3,790 6, 480
HMR (£50)
K 1 5
15, 520

HAAMh
15, 520 M/ A
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Ly i 45 2024. 3
Z = .
SEER (2) SR PR A 2024, 3
TR IR IR 1. 000-00-00-2-0
FEH) I B E S
BAY ok Bl
8,584
£ B JHRE BT HE B SFH e
LSl
L 31 139 4,309
REEER [T —E P U EE)] 45kVA
H 1.71 2, 500 4, 275
HMR (£50)
= 1 0
8, 584
Hiff
8, 584 M/ A

- 122 -

5 bt K o] Vo S




12390 B P 4 2024. 3
Z = :
55 £t (2) A 4 2024. 3
TR IR IR 1. 000-00-00-2-0
RA — )b 10— Y
BT gy B
28,910
£ B HAE BT HE B SFH e
HEEFE (%)
A 0.8 25,620 20, 496
3]
L 14 139 1, 946
KA —nva—F (K77 %2va~)v) [HHiE]
H 1. 58 4, 090 6, 462
MR (£50)
2y 1 6
28,910
B
28,910 M./ H

- 123 -

5 bt K o] Vo S




I FEIG R B A1 ) 4F 2024. 3
SEER (2) SR 4R A 2024, 3
TR IR IR 1. 000-00-00-2-0
Ny kg (ra—7) [EH] BEAm AR (F2w)  LfE2. Om3 0 0
HAfr HE BTG
150, 200
E2xin HkE HAAL K HAATG BAA B
HHEE R (B5kR) 0 0 0
A 1 27, 825 27, 825
3] 0 0 0
L 272.6 139 37, 891
Ny 7Ry (ra—7) [FEYE] BEn™ 220 1LFE2. 0m3 0 0 0
HEH A 1.5 56, 300 84, 450
MR (£20) 0 0
= 1 34
0
150, 200
0
HAAMh
150, 200 M/ A
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5 bt K o] Vo S




N

SEZEE (2) . 1 4 2024. 3

- M AR A 2024. 3
TR IR IR 1. 000-00-00-2-0
Ny kg (ra—7) [EH] PEAm 2R (F2w) L0, 8m 3 0 0
HAfr H HE BTG
68, 420
E2in HkE HAAL HE HAATG &R B
AT (Reik) 0 0 0
A 1 27, 825 27, 825
3] 0 0 0
L 87 139 12,093
Ny gky (ru—7) [FEYE] HE 2R (FE2w) IFE0. 8m3 0 0 0
HEH A 1.5 19, 000 28, 500
MR (£20) 0 0
= 1 2
0
68, 420
0

HAAMh
68, 420 M/ A

- 125 - ELARims  Abkizhh )y % &




I FEIG R B A1 ) 4F 2024. 3
SEER (2) SR 4R A 2024, 3
95 B AR L 1. 000-00-00-2-0
IR S (B, BN, 8 TR AbHgiE - G - Ab b R E - P - Ju 33, 3km
. BERSE) o 12mPAN AHE (FE5AT)) 0% 4% XA g EAl
4,070
E2xin HE BT K X BAA i
EAEF X B LR 12mPl A 40kmE T
t 1 4,070 4,070
wHER (25 0)
X 1 0
4,070
Hif
4,070 M/t
B A 2024. 3
HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
IR S (B, BN, 8 TR AbHgiE - G- Ab ki R E - P - Ju 33, 3km
. BEIRS) o 12mPAN AHE (FEAT)) 0% 4% XA B EAll
4,070
E2xin HE BT K X BAA ELES
EAEF X B LR 12mPl A 40kmE T
t 1 4,070 4,070
wHER (£250)
X 1 0
4,070
H
4,070 M/t
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5 bt K o] Vo S




o R AY B i P4 2024. 3
SHEER (2) SR M ] 2024, 3
TR IR IR 1. 000-00-00-2-0
Ny 7Ry (Fa—7) [FEL] P28 (2w  LFEO. 28m3 0 0
XA S| g Bl
7,710
£ F B XA & X KXo e
T (R 0 0 0
A 0.17 27,825 4,730
3] 0 0 0
L 5.9 139 820
Ny 7Ry (Fa—7) [HEiE] PET 2R (F2w)  WFEO0. 28m3 0 0 0
FRE[H] 1 2, 160 2, 160
WM (£20) 0 0
= 1
7,710
0
Hiff
7,710 M/ B
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5 bt K o] Vo S




Yoy {1 e T4 2024. 3
AYS 2 B .
%" 7H’ ( ) HHEME A A 2024. 3
TR IR IR 1. 000-00-00-2-0
Ho T NTw s [Fra—R--F4 4 t FEfk 0 0
—E ] HAfr M) HE BTG
2, 440
E2xin HkE HAfr & X &R B

3] 0 0 0

L 5.4 139 750

T NTvy [Frva—FK--F4—EnL] 4 t fHEfk 0 0 0

FRE[H] 1 1, 640 1, 640

T Tvy [Frva—FK--F4—E)nL] 2 A 0 0 0

R[] 1 50 50

MR (£59) 0 0
= 1

2, 440

0
HAAMh
2, 440 M,/
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5 bt K o] Vo S




Y N s
ZEhk (2) 1 2024, 3
HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
Hhan HE R 0 0
XA X K LR
2,024, 000
E2xin HE XA X & S
Trawmer— HE = 0 0
7 A 6, 000 24, 000
AR SN R 15 0 0
7 A 11, 000 44, 000
AR kAR R 4 0 0
7 A 288, 000 1, 152, 000
AR S R 15 0 0
7 A 65, 000 260, 000
o=y MY ALY & 0 0
7 A 10, 000 40, 000
BlIERAT  ERF & 0 0
7 A 5, 000 20, 000
HNEERIT (BNH) Bk 15 0 0
7 A 35, 000 140, 000
FNESLT (EMH) R 3H 0 0
7 A 75, 000 300, 000
EEH R & 0 0
7 A 11, 000 44, 000
0
2,024, 000
0
H
2,024, 000 P
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5 bt K o] Vo S




4e 5 1147 2024. 3
A .
%" 7H’ ( 2 ) HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
a R R (5 0 0
XA X K LR
613, 200
E2xin HE BT K X &R S
<EEED
W B IMIE E 0 0 0
A 2 38,110 76, 220
iE BRI BN 0 0 0
A 3 38,110 114, 330
iE ERIBEHENT A 0 0 0
A 6 25, 620 153, 720
MR () 0 0
30%
X 1 103, 281
E>
e BRI BN 0 0 0
A 2 38,110 76, 220
s ERIEEEITE 0 0 0
A 2 25, 620 51, 240
B (B D0) 0 0
30%
X 1 38, 189
0
613, 200
0
H
613, 200 M=
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I FEIG R B A1 ) 4F 2024. 3
SHEEFR (3) SR M ] 2024, 3
95 B AR L 1. 000-00-00-2-0
AR kg R} 4B 0 . 0
Wi | A sk i
288, 000
£ F HE BT g X & i
AR kAR R} 15 0 0 0
A 4 72, 000 288, 000
0
288, 000
0
Hif
288, 000 M/ 7 A
HAAT s FH 47 A 2024. 3
HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
TNESLT (EMA) R 3R 0 . 0
Wi | A sk i
75, 000
£ F HE BT g X & ELES
FNESLT (EMH) R 15 0 0 0
A 3 25, 000 75, 000
0
75, 000
0
Hif
75, 000 M/ 7 A
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Z B A 2024. 3
= 7H’ ( 3 ) HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
fgg,ﬂﬁ? 0 V3 O
By B Al
38,110
E2xin HkE HAfr X BAA S
TERGBIE E T 0 0
A 38, 115 38, 115
0
38, 115
0
Hif
38, 110 PPN
B A 2024. 3
HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
EQE 0 V3 O
Hifir K Hff
38,110
E2xin HRE HAfr X BAA S
B IRIE E 0 0
A 38, 115 38, 115
0
38, 115
0
Hif
38, 110 PPN

5 bt K o] Vo S




B A 2024. 3
Z
= 7H’ ( 3 ) HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
e EEIBE 0 0
B i HEA
25, 620
E2xin HE HAfr X BAA S
ERIEEEIE 0 0
A 25, 620 25, 620
0
25, 620
0
Hif
25, 620 PPN
B A 2024. 3
HHEME A A 2024. 3
95 B AR L 1. 000-00-00-2-0
Tﬁi\: 0 V3 O
Hifir K Hff
38,110
E2xin HE HAfr X BAA S
B IRIE E 0 0
A 38, 115 38, 115
0
38, 115
0
Hif
38, 110 PPN

5 bt K o] Vo S




2298 S it 45 2024. 3
Z = .
= - 7H’ ( 3 ) A5 HEME AR A 2024. 3
5 AR IR 1. 000-00-00-2-0
= 5 S
B R B
25,620
Hke BT B e frgE
EXR 0 0
A 25,620 25,620
0
25,620
0
A
25, 620 EPN
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